Chapter 6
Clause types

6.1 Introduction

In this chapter, different clause types in Kayan Lahta are discussed. First, the major
types of clauses including declarative sentences, interrogatives sentences, and
imperative sentences are presented, The interrogatives are subdivided into content
questions and polar questions. Then the ability sentences, negation, comparatives
and superlatives, causatives, reciprocals and reflexives are taken up. Then complete
sentence types including simple sentences, coordinate, subordinate, relative clause
and adverbial clauses are discussed. Finally, different kinds of serial verb
constructions are presented.

6.2 Major clause types

This section discusses three major clauses: declaratives, interrogatives and
Imperative.

6.2.1 Declarative
Declarative sentences are used 1o make assertions about events, states and processes,

As seen in chapter five, declarative sentences are SVQ. They typically express
temporal adverbials first (179) and may often have multiple verbs (180) and (181).

(179) kepii  vel ot dai  ka‘nithul
now Is live in Kaung Huu
TIME PRO .V PREP  N.PROP
‘Now, 1 live in Kaung Thu (village).’

(180) pnad wil  thapt ved  salnopd
Is think ascend 2s on
PRO v v PRO LOCZR
‘I think about you.’
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(181) nai jal wil  thanl vei  sajnont
1s not think ascend s on
PRO NEG vV Vv PRO LOCZR
‘I do not think about you.

6.2.2 Interrogative

Interrogatives can be divided into two kinds: content questions and polar questions.
Content questions involve interrogative pronouns such as what, why, when, where,
how many. Some content questions and all polar questions are formed by the adding
the word &7 before the predicate.

6.2.2.1 Content question

This kind of question is formed by adding the interrogative pronouns at the end of
the sentence.

6.2.2.1.1 What

A ‘what’ kind of content question is formed by adding the question word sane/
‘what.’ Using this kind of content question indicates that the speaker expects the
unknown referent can be either non-human or human,

(182) ved shap?? a4 sadnel
25 look  see what
PRO v v Q
‘What do you see?’

(183) ved shan1? It datl  satnecd
25 look = see can  what
PRO v v ABL  Q
‘What can you see?

In examples (182) and (183), the question word saJne/ is added at the end of the
sentence. For the above questions, the answer can be human and non-human as
shown in example (184). Or the answer can be just a noun phrase as shown in
example (185).
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(184) nad stap?1 a4 padmod  s¥a?1 plat
Is look  see woman  Six clf
PRO v vV N NUM CLF
‘I saw six women.’
Or
nai  stap?l lod goflui t'a?l aJ ma+
Is lock see  ring gold one clf
PRO v v N ADJ NUM CLF

‘I saw a golden ring.’

(185) paimod s¥a?l plat
womarn six clf
N NUM  CLF
‘six woman’
Or
goflud t'a??  olmai
ring gold  oneclf
N ADJ  NUM,CLF
‘a/the golden ring’

6.2.2.1.2 Why (Reason)

There are two words, nwe) and baJsaned used for ‘why’ questions. One kind of ‘why’
question is constructed by adding pwe/ at the end of the sentence, (186). The second
kind of question is constructed by adding the particle £1 after the verb followed by
the question word baJsane/ at-the end of the sentence, (187). Using these kinds of
content question indicates that the speaker does not know the reason for the
statement or event.

(186) ved jal mplil  fo?1 pweld
2s not . buy rice why
PRO NEG V N Q
‘Why don’t you buy rice?’

In example (186) the question word pwef occurs at the end of the sentence,

(187) ved potnd  &f balsatnet
2s cry  quest why
PRO v PRT Q

‘Why do you cry?
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In example (187), the particle &7 occurs after the predicate »oind and it is followed by
the question word batsainel.

The answer for the question can be as below.

(188) nai neind madratme!  pat ptad  vap?  pad
Is cry  because 1s father hit Is
PRO v CONJ POSS N v PRO
I cry because my father hit me.’

The answer for this kind of content question is formed by adding the reason clause
at the end of the sentence and joining that clause by the subordinate conjunction
mafraimed to the main clause.

Notice that, for ‘why’ question that the interrogative pronoun sfiweJ does not occupy
the position of the ‘answering’ clause. balsaneJ or pweJ cannot said to be insitu, they
are clearly sentence final.

6.2.2.1.3 Why (reason for a future event)
This kind of question is constructed by adding the question word saneJ at the end of

the sentences. Different from the content question ‘what’, using this kind of content

question indicates that the speaker does not know the purpose of the statement or

event.
(189} ved led furTkhind ved  led moi  sainet
2s go Phekhon =~ 2s go do what
PRO  V N.PROP  PRO V V Q

‘What will you go to Phekhon to do?’

(190} ved lef mod  seljopd  sained
2s go do hospital  what
PRO vV oV N Q
‘What will you do at the hospitai?’

The answer for this kind of content question is formed by adding the clause at the
end of the sentence. The clause that gives the purpose is joined to the main clause

by the preposition daJ.

(191) nai e fu?tkMnd dat  pai et stapistat  tdmanlt
1s go Phekhon and Is go sell basket
PRG v N.PROP CONJ PRO LAY N

‘I went to Phekhon to sell the basket.’
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(192) pai led seljoyt  dod  pai  led stan?? saltral
Is g0 hospital and  1s go see doctor
PRO vV N CONJ PRO v Vv N

‘I went to the hospital to see the doctor.’

6.2.2.1.4 How many
This kind of question is constructed by adding the particle £f at the end of the
sentences and the question word a?7s%a7 at the beginning of the sentences. Using this

kind of content question indicates that the speaker expects the unknown element to
be a guantity.

(193) a?lshai bal o me?Tnenpd sha?l  ef
how.many get exist age only = quest
QNT v A N PRT Q
‘How old are you?’

Although the interrogative pronoun is sentence initial, the answer for quantity is
sentence final.

(194) nai me?ine’p! ol winifal

1s age exist  thirty
PRO N \Y NUM
‘I am thirty.’

6.2.2.2 Polar questions
Different from content questions, polar questions, or “yes/ no,” gquestions are
constructed by adding the particle £1 before the predicate. Using this kind of

uestion indicates that the speaker expects the answer to be ‘yes’ or ‘no’, ‘true’ or
P ¥

‘faise’

(195) fu?lkhpd  njond &d 8i?1
Phekhon language quest know
N.PROP N Q v
‘Do you know Phekhon language?’

(196) vel ed and  mjagltad jen?i
2s quest eat  finish cook-rice
PRO Q vV v N

‘Have you finished eating?’
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In examples (195) and (196) the questions are formed by adding the particle ¢4
before the predicates 6i?7 and apJ. Notice that in {195), the object is fronted. The
answer for the polar question in affirmative would be “yes,” or ¢/ followed by the
verb or just the verb as in the examples below.

(197) mepl Or & o171 Or eizl
correct quest  know know
A Q v v
‘Yes' ‘Know’ ‘Know’

The answer in negative would be:

(198) jai me'J Or jal 8i7l
not correct not  know
NEG \Y NEG V
‘No’ ‘Do not know,’

A polar question is also used to ask permission from someone.
See the example below.,

(199) nat nel &l dat)  bai jopt  ku?l
1s sleep quest can  at house in
PRO v Q ABL PREP? N LOCZR

‘Can I sleep inside your house?’

In example (199} the question marker ‘cf occurs before the ability ‘das.

6.2.3 Imperative
Imperatives are used not only to give a command but also to suggest a course of
action to the hearer. There is no special marker like the interrogative, to form the

imperative, the structure of the imperative question would be:
V + Complement
See the examples below.,

2000 ku?il vald
cut bamboo
v N
‘Cut the bamboo.’
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In example (200) the imperative question is formed by the verb ku?7 followed by the
complement val

The two commands can be giving by combining the two clauses as in example {203).

(201) mblulkait fol kot shad
take.off thorn then sew
Y N SUB.CONJ Y

‘Take off the thorn then sew.’

In the above example, the two commends: mblutkaiif and s"a4 are combined by the
conjunction k.

6.3 Aspect marking

This section discusses different aspect markings in Kayan Lahta.

6.3.1 Completive aspect marker ‘ha+’

The completive aspect marker ha is used to indicate that the action or event is

complete.

(202) talpii  bad  jod ma had
fiy cdf fly  disapear = complete
N CLF Vv Vv ASP
‘The fly flew.’

(203) ant et had Bantoal
eat all complete  fruit
\ QNT  ASP N

‘(They) ate all the fruit.’

(204) mjcimagtkod  sitsapd  dat  had
then sell able  complete
CONN v ABL ASP
‘Then it is ready to sell it.’
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6.3.2 Perfective or completive aspect marker ‘m/anlths+’

The aspect marker mjan It"a7 is used to indicate a completed action or event,

(205) ved £l apd  mjonittad
2s quest eat  finish
PRO Q \Y ASP

‘Have you finished eating?’

6.3.3 Ongoing aspect marker ‘o’
In Kayan Lahta has no tense marker to show the time of the action or event. To
indicate the ongoing action or event, o/ can be used before the verb. The actual

meaning of o/ is ‘live/dwell’ but it can be used as an ongoing, or imperfective,
aspect marker in this case.

(206} nai o neoi
Is on-going  sleep
PRO ASP Vv

‘T am sleeping,’

(207) nai oJ napi  khond k'ut
1s on-going  sit chair  on
PRO ASP v N LOCZR

‘T am sitting on the chair.’

6.4 Ability

In Kayah Lahta, ability is coded by the clause-final ability predicate. There are two
words that encode ability daJ ‘can, talented at, intelligent’ and e?7 ‘able to’. The
meaning of da/ also means that someone is allowed to do something,

(208) fu?ikhind - njoyi dat
Phekhon language can
N.PROP N ABL
‘(I) can speak Phekhon language.’

(209 p'a?? W dal
read book can
Vv N ABL
‘He can read a book. / He is intelligent,’
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(210} jijjwed daf
dance can
A\t ABL

‘(She} can dance. / She is very good in dancing.’

The above examples show the different meanings of daJ. In example (208) it means
that the person can speak Phekhon language even though the verb is not expressed.
In the two examples, (209) and (210) daJ has more than one meaning. The meaning
can be distinguished by the intonation of the speaker. Speaking with the low
intonation of dafmeans that the person can do something but it is not sure whether
he is good at doing something or not. Speaking with high intonation on the adjective
means that person is really good at doing something.

(211) ved nel  dat  bal  jopt ku?l
Is sleep can at house in
PRO A ABL  PREP N LOCZR
*You can sleep inside the house.’

The meaning of da/ also means that someone is allowed to do something. In example
(211) you are allowed to sleep in the house. It does not mean that you have ability
to sleep.

(212) mbil lotkand  jai e?l  ko!  pja’ygd lapd  do'yl pa‘'nd
feed spirit not  able then move decend village Pau
vV N NEG  ASP  CONJ WV v N N.PROP
‘(They) cannot able to feed the spirit anymore, then (they) move to the
village called Pau.’

In example (212) it means that the villagers are not able to feed the spirit anymore
because they have no more pigs or chicken to offer. It does not mean that the
villagers do not have ability to feed the spirit.

All the examples above show the semantic differences between the different markers
of ability. The ability marker, da/ related to the ability of someone and ?e?7is
related to the circumstances.
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6.5 Negation
In Kayan Lahta, the negative fa7 is used to change the polarity of a proposition.
Using the negative turns an affirmative statement into a negative statement, The

negative ja7 must occur before the verb.

(213} vel jol  pMd  apd  pal
2s not  give eat Is
PRC NEG V v PRO
‘You do not give me to eat.’

(214) jal nda) do)  jal apd  bal  joJ
not cook and not eat  effect sf
NEG \ CONJ NEG Vv v PRT

‘Do not cook and do not eat.’

In example (213) the negative ja7 occurs before the verb phil In example (214), two
clauses are joined by the conjunction daJ. In both clauses the verbs nda/ and an/ are
being negated by their own negative marker. In example (215) the ability e?7 is

negated.

(215) mbil lokani  jal e?! da/  pja°pi lagt do'nl pa’yd
feed spirit not  able and  move descend village Pou
V N NEG  ABL . CONJ V v N N.PROP
‘Since (they) were not able to feed the spirit, then (they) moved to the

village Pou.’

(216) jali mbil  lotkand dsl  pja’pt land do'yl pa‘yd
not feed  spirit and move descend  village Pau
NEG v N CONJ V¥ v N N.PROP

‘(They) did not feed the spirit then they moved to the village.’

In (215), two clauses are joined by the conjunction da/, In that sentence, only the
ability e?7 from the first clause is being negated. The second clause is modified by
the first clause, but it is not negated by the negative marker in the second ctause. In
example (216) the verb is negated.

Different from other Kayan varieties, nouns can be negated in Kayan Lahta, although
the example below is the only example in my data. It is also possible that the verb

‘be’ is omitted in the sentence. But there is not enough evidence to prove that either
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the noun can be negated or the verb ‘be’ is omitted. See section 5.3.1.2 for more on

equative sentences.

(217) batu! dad  kaljap?l ol vod  ved lod futuad
Pa. O and  Kayan not  sister brother together  thattime
N.PROP CONJ N.PROP NEG N N ADV TIME
‘From that time, the Pa.O and Kayan were not brother and sister anymore.’

In example (217) the two nouns vod and vef are being negated. There is no verb in
the sentence.

6.6 Comparative and superlative

In Kayan Lahta, k"lop7 is used together with daJ to express the comparative in a
sentence. In a comparative sentence, the first noun is compared to the second noun
connected by the comparative marker klopdaJ. But da.f does not need to be used to
express the superlative, The position of the comparative in a sentence in Kayan
Lahta is:

[NP ADJ k'onlds) NPJ,

(218) mplal alled kflonida) vel
3s tall than 1s
PRO ADJ COMP PRO
‘He is taller than me.’

(219> majho“?inap! kul  kMoylda) matkwadnent
yesterday hot than today
N ADJ  COMP N
‘Yesterday is hotter than today.’

(220) ai?] dil  kMopidal khud
Al big  than Khu
N.PROP ADJ COMP N.PROP

‘Ad is older than Khu.’

Examples (218), (219) and (220) express comparative sentences. In these examples,
the first nouns are compared to the second nouns and they are connected by the
comparative marker k*opida).

99



In a superlative sentence, a prepositional phrase can occur. The position of the
superlative in a sentence in Kayan Lahta is:

[(adpositional phrase) N ADJ  k'lop7 (adpositional phrase)]

(221) mplal  3sild kflog!
3s tall than
PRO ADJ  COMP
‘He is the tallest.’

(222) pnat do*yl ku?l mplal adlod khlon?
1s village in 3s tall than
POSS N LOCZR PRO ADJ SuUP
‘In my village, he is the tallest,’

Or

mplal 134 kFlonldad pai  dat  doyl ku??
3s tall  than Is prep . village in
PRO  ADJ  COMP PRO  PREP N LOCZR
‘He is the tallest in my village.’

Examples (221) and (222) express the superlative. In example (222) a prepositional

phrase can be seen in a sentence and it can either precede or follow the main clause.

(223) motho*?lnand  kul kfonlda) puipant
Yesterday warm than every.day
N ADJ COMP N

‘Yesterday is the warmest,’

Example (223) is marked by the conjunctions k"lonida.. In this sentence, ‘vesterday’
is compared by ‘everyday’. Syntactically, it is a comparative sentence. But

semantically, it can be both comparative and superlative sentence.

6.7 Causative

Causatives are formed by using the causative verb mo7 in Kayan Lahta. The verb mo+
semantically means ‘to do’ or ‘to make’ something. In the following examples it is
used as a causative verb to form a causative. In a causative sentence, the causative

verb normally precedes the main verb.
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See the following examples.

(224) platbattal mod pta?l pleyd mad
child do break bottle clf
N v v N CLF
‘The child broke the bottle.’

(225) mo Jad Ja?i
make  die chicken
v v N
‘Kill the chicken.’

In examples {224) and (225) the causatives are formed by using the causative verb.
It precedes the verb p"a?? ‘break’ in example (224) and fo4 ‘die’ in example (225).

(226) ved mod kMl vanl bal  ai?l
Is do Khu hit effect Ai
PRO v N.PROP v v N.PROP

‘I make Khu to hit Ai.’

In (226), ‘k"uv’ is the object of the first clause ved mo7 k™4 ‘I make Khu' and he also
functions as the subject of the second clause k"uf vap?bat ai?? ‘Khu hit Ai.’

6.8 Reciprocal
Reciprocals are formed by using sdplad daJ a.plat ‘one another’ and loJ ‘each other” in
Kayan Lahta. Semantically, lo/ means ‘together’. In the following examples it is used

as a reciprocal meaning ‘each other’. In a sentence, the loJ ‘each other’ and aJplaf daJ
aJplat ‘one another’ appear in the object position.

The following examples express the reciprocal.

(227) naipud shagiptuivel  alplad dad  alplal
Ipl love one.person and  one.person
PRO v RECPL CONJ RECPL

‘We love one another.’

(228) ai?] dod kM stapiptutvel adplad dal  aiplas
Al and Khu love one.person and  one.person
N.PROP CONJ N.PROFV RECPL CONJ RECPL
‘Ai and Khu love one another.’
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(229)

mapJtkod kaljan?l  lajctad dod  bahud
then Kayan Lahta and  PaQ
CONJ N.PROP  N.PROP CONJ  N.PROP
‘Then Kayan Lahta and PaO fight each other.’

6.9 Reflexive

Reflexives are formed differently according to the subjects in a sentence. See the

following examples.

230)

(231)

ved vanl bal  veinapi

2s hit effect yourself
PRO v v REFLX

‘You hit yourself.’

mplal  vapl bal  mplalnapi
3s hir effect himself
PRO v \ REFLX

‘He hit himself.’

Or

mplal vanl bal  adnagi
3s hir effect himself
PRO V v REFLX

(232}

(233

‘He hit himself.’

khu{ dat ai?l vanp! bad
Khu and  Ai hit effect
N.PROP CONJ  N.PROP v V

‘Khu and Ai hit themself.’

naiput vanl bat nafputnand
Ipl hit effect ourselves
PRO Y Vv REFLX

‘We hit ourselves.’
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The different forms of the reflexive are summarized in Table 22.

Table 22 Reflexives in Kayan Lahta

bin
Proper Noun | napd

nai‘ls’ nainand

ved ‘2¢’ ved napd

naipui 1pl’ | padpui nant

6.10 Complex clause types

Sentences are made up of at least one clause in Kayan Lahta. In Kayan Lahta, when a
single clause is uttered as a complete thought with sentence intonation, it is a simple
sentence. A simple sentence can also be marked by adding final particle at the end
of the clause. However, typically no final particle occurs in daily speech in Kayan
Lahta. Adding a final particle seems more polite and more formal.

The simple sentence structure is illustrated in (234).
[CLAUSE (qal)]

(234) matho“?lnent pai  led satkopi  gal
yesterday 1s go rice.field  s.f
N PRO .V N PRT
*Yesterday I went to the rice field.’

The final particle in example (234) is optional and the meaning of the sentence is
stays the same,

6.10.1 Coordinate clauses
One way of forming complex clauses is through coordination. There are two

coordinate conjunctions, ‘daJ)’ and ‘ks/” in Kayah Lahta. They can link the two
clauses in a sentence. The two clauses are independent in that they could stand
alone to form a sentence.
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{Clause daf/ko{i Clause]

(235) ho'g? thapJ s'a?l paJmod  daJ  palmod  pla)  jo1  vanl
call  decend  only woman and woman  clf not  clean
Vv vV ADV N CONJ N CLF NEG Vv
‘Call one of the women who is not clean.” (who is not appropriate to be
sacrificed.)

(236) vapl taipi{ bal da.f jal bal - jol
hit fly clf and not  can  s.f
v N CLF CONJ NEG vV PRT

‘(The bear tried to) hit the fly but {he) could not.’

(237) vedl of stoJ khud  kod pja’yt te'gd  natel
25 live mountain on and.then _move come Natei
PRO v N LOCZR CONJ v v N.PROP

‘He lived in a mountain and then (he) moved to the village Natei.’

In (235} and (236), the two clauses are linked by the conjunction da/, The use of the
conjunction ‘daf suggests that the two events happened at the same time. It can be
transiated as ‘and’ or ‘but’ depending on the context. In example (237) the
conjunction ko is used to link the two clauses in a sentence. The use of the
conjunction ‘ka7 suggests that the first event ved oJ s"o/ k™t ‘T lived in a mountain’
happened first and then it was followed by the second event pja’ni te'nd nate'n ‘move
to the Natei’ happened. They did not happen at the same time.

In example (238} the agent is omitted. According to the context, the agent is ‘the

bear’. The agent of the first and the second clause is the same in this example.

6.10.2 Relative clauses

Complex clauses are also created when a relative clause is used to modify a noun
phrase inside the main clause. In Kayan Lahta, relative clauses are marked by the
relativizer ‘da7’ or unmarked and the clause directly follows the noun it modifies.

Relative clauses are underlined in the following discussion

Example (238) relativizer is omitted and the relative clause o/ kaflant ku?1 ‘exist

inside the plate’ directly follows the noun.
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(238) plud plal  ap! Oapib6ad ol kellant  ku?il
child clf eat  fruit exist plate in
N CLF v N v N LCZR

“The child ate the fruit which is on the plate.’

In (239) and (240), the relativizer da7 is used to mark a relative clause that modifies

a noun ‘plafbattal ‘child’ inside the clause.

(239) ho'nl  plaibajtal dad ul 371
call child rel drink water

Y N REL v N
‘Call the child who drunk water.’

(240} [o77 band  plabaitai dsi ___moi _nkai
water  cup  child rel do destroy
POSS N N REL 'y v
‘the cup that the child destroyed.’

In example (241) a relative clause modifies the noun which is in the subject
position. In this example, the relativizer dai follows the noun that the relative clause
modifies. The first pla/ is used as a head noun and the second plaJ is used as a
classifier. In this clause, the relative clause appears between the noun and the
classifier.

(241) pla) dsiand  jeni plal  stap?? lad tadpif bat  jai led
man rel eat  rice-cooked clf look see  fly clf  fly down

N  RELV N CLF Vv v N CLF Vv V¥
‘The man who was eating rice saw the fly fly down.’

The relativizer can be omitted as in example {242).

(242) pla) ant __ jeni plat  shap?? b4 tafpii bal  jad led
man eat rice-cooked clf look see  fly clf fly down
N v N CLF v v N CLF Vv v

‘The man who was eating rice saw the fly fly down.’

105



6.10.3 Adverbial clauses

Adverbial clauses are classified based on their syntactic structure and the semantic
relationship between the dependent clause and the main clause. Structurally an
adverbial clause modifies another (main) clause and is introduced by a subordinate
conjunction or preposition and often ended by another dependent clause final
subordinator. (Manson, 2010: 396)

In Kayan Lahta subordinate conjunctions are always sentence final but occasionally
may appear sentence initial also.

Subordinators are underlined in the following discussion and square brackets

surround the adverbial clause.

6.10.3.1 Temporal adverbial clauses

In Kayan Lahta, temporal adverbial clauses are included in the main clauses and
they usually appear at the beginning of main clause. When the temporal adverbial
clauses come first in a sentence, sitk"o*f ‘when’ is the subordinate conjuncticn that is
used. Look at examples (243a) and (244a). If the temporal adverbial clause comes at
the end of the sentence, the subordinate conjunction is ‘bar....... sidk"o*4’. Look at
examples (243b) and (244b).

The two positions of the temporal clauses can be:

[Temporal Clause Main Clause) s

[eveneenenacene sitk"o"{+ Main Clausel
Or
[Main Clause Temporal Clause] ¢
[Main Clause bat........ stko"1]
(243) a.lap)  loJ wif sitkPfo™]  tadpii bal  jod lan

eat together  delicious when fly clf fiy descend
v ADV ADJ TIME N CLF vV v
‘When eating deliciously, the fly descended.’
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b, tadpid bal ol lapt fbai ant ot wid  sitkfof]
fly clf fly descend prep eat together  delicious  when
N CLF Vv V PREP V ADV ADJ TIME
“The fly descended when eating deliciously.’

(244) a.fkafjap?l lwag) pii  te] bal  kPad] jol phiy  andbaiuf
Kayan g0 get  porcupine clf when notgive eat PaQ
N.PROP Vv v N CLF  TIME /NEG V V  N.PROP

‘When Kayan get a porcupine, they do not give PaQ to eat. ’

b. kafjap?1 jol p'id  aplbaul [bai bwvan) pitte’n] bat  K'ai]
Kayan not give  eat Pa0 time go get porcupine clf when
N.PROP NEG V ¥ N.PROP PREP V Vv N CLF TIME

‘Kayan do not give PaO, when get a porcupine.’

In the two examples above, two positions of the temporal adverbial clauses can be
seen. Firstly, the temporal adverbial clauses precede the main clauses and the
subordinate conjunctions si#k"o"f or k*ad ‘when’ occur at the end of the temporal
clause in a sentence. Secondly, the temporal adverbial clauses follow the main
clause and the subordinate conjunctions and baf ‘when’ occurs at the beginning of
the temporal clauses and sifk®o"f or k”a{ ‘when’ at the end of the sentence.

6.10.3.2 Reason clauses
In Kayan Lahta, ko7 5o’ and malradme/ ‘because’ are the conjunctions that are used
in a reason clause. ko7 50’ has more than one meaning. In the following examples it

gives a reason. In use, the reason clause precedes the result clause and the two
clauses are connected by kaf so’ or majraimel ‘because’.

(245) plal  pladbaieal jal pienl kot pja‘yd te'pd  nate'y]
clf child not  feel-well so move come Natei
CLF N NEG v RESN v v N.PROP

‘The children are not feeling well, so {they) move to Natei.’

(246) airl Gaivid kot af apdoopd  tafneind]
Al hungry  so 3s hunt animal
N.PROP V RESN PRO v N

‘Ai is hungry so he goes hunting.’
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In example (249) the coordinator maltrafme) is used to connect the two clauses.

(247) pai  jol led satkont  [matraimel  kandfwed]
1s not go rice.field - because rain
PRO NEG Vv N RESN v

‘T do not go to the rice field because it rain.’

6.10.3.3 Cause-effect clauses
In Kayan Lahta, the same marker ko4 is used for reason clauses and result clause. So

syntactically, they cannot be distinguished. The two clauses can be distinguished
only by their meaning.

The result clauses are coded by ko7 so’. In the sentence, the result clauses follow the

main clause and the two clauses are connected by ka4 ‘s0”,

(248) mond and  manpdel  [ko! plad Jmodj
spirit eat wrong 50 person die
N v ADJ CAUSE N v

‘The Spirit eats imappropriately so the people die.
(Lit. The Spirit eat {(something) wrong so people die.’

(249) ved nel  dal  gal  gab jept do'y? kot ol o)
2s sleep can  s.f owner house say  so sleep  exist
PRO \Y v PRT N N v CAUSE V v
‘You can sleep, says the house owner so (he) sieep.’

(250) nai jol ant . jenl {kod nat  Baivid]
1s not eqt rice-coocked  so 1s hungry
PRO NEG v N CAUSE PRO Y

‘I do not eat rice, so I am hungry.’

In the above three examples, the coordinator ka1 ‘o’ is used. The cause clauses oceur

at the beginning of the sentences and they are followed by the main clauses.

6.10.3.4 Conditional clauses
Conditional clauses are marked by the subordinate conjunction msJ ‘if’. Conditional
clauses describe some hypothetical situation and the consequences of the situation,

In a sentence in Kayan Latha, the first part of the sentence is the condition clause
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and it describes the hypothetical situation. The second part of the sentence is the

clause that describes the consequence of the condition clause,

The following are the examples of conditional clauses.
(251) [vel tanJka?l of meld} ved kal mot1  salnel
2s money exist if 2s will  do what
PRO N Vv SUB.CONJ PRO v v Q
‘If you have money, what will you do?’

(252) [pai ja1  shap?l lad maind  med] nai kat il antjen?
Is  not look see mother if Is will not  eat rice
PRO NEG V \ N SUB.CONJ PRO Vv NEG V N
‘If I do not see mother, 1 will not eat.’

(253) [ai?l led nanpitwl  mel] aJ kad Iwani taipaigd
Al go forest if 3s will  go hunting
N.PROP V N SUB-CONJ PRQ V v N

‘I Al go to the forest, he will go for hunting.’

(254) [matkwainen) kaptfwe! med] nat  kat  led satkhon
today rain if Is will  go rice. field
N \Y SUB-CONJ PRO Vv Y N
‘If it rains today, I will go to the rice field.’

6.11 Serial verb constructions
In this section, the different kinds of serial verb constructions which include action
with purpose, action (cause)-result, motion with goal, motion with direction, action

with result, action with completion and action with negative result are discussed.

In Kayan Lahta, two verbs or more which are not lexically related are combined in a
serial verb construction. They are very frequent in this language. However, some

verbs series are compound and not serial verbs.

In example (255), the two verbs, s"ap?7 ‘look’ and la1 ‘see’ co-occur. However, the
meaning of the combined verbs is not compositional. The two verbs are combined to

form one meaning ‘see’. This is a coordinate compound and not a compositional
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serial verb construction. The meaning of serial verbs is more compositional than

with compound verbs.

(255) bajud  stan?l lad te'nl bal  [wan?l
PaO look  see porcupine clf feather
N.PROP V Y N CLF N

‘Pa.O sees the porcupine’s feather.’

In this section, some types of serial verb constructions will be examined. In this
paper, serial verb constructions are treated as a variety of distinct verb pairs that are
defined by the semantic relationship between the verbs.

6.11.1 Action with purpose (different agent)
In this serial verb construction, the first verb shows the action of the agent and the

second verb express the purpose of the action in each sentence.

(256) balwl p'it ant  kajap?l  stapd jat
PaO give eat  Kayan elephant  meat
N.PROP V Vv N.PROP N N
‘Pa.0 give Kayan elephant meat to eat,’

In example (257), there are two participants: the agent and the recipient. In this
sentence, the action verb p"i/ ‘give’ precedes the verb an/ ‘eat’ which express the
purpose of the first action. The purpose of Pa.O for giving the meat to Kayan is to
eat.

(257) dal ant  jenl
cook eat rice-cooked
v Y N

‘Cook rice to eat.’

(258) mal and  kaimwant
make eat snack
v v N
‘Make snack to eat.’

In the above two examples, the agents are omitted and there are no recipients or
patients. The verbs an/ ‘eat’ is followed by the action verbs, d2J ‘cook’ and maJ
‘make’. The meaning of both sentences is that the implied agents make something
with the purpose of eating.
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6.11.2 Action (cause) - result
The verb mo. ‘make’ expresses the action which is caused to happen. It is followed

by the verb which expresses the result of the action. Causative verbs were discussed
in section 6.6.

(259 kal plaibaital moi  pta?l plend ma-
call child make break bottle clf
Y N v v N CLF
‘Call the child who broke the bottle.’

(260) nat mot  andiad vat
1s make split  bamboo
PRO v v N
‘I split the bamboo.’

In examples (259) and (260), the causative verb mo) *make’ is followed by the result
verb p"a?1 ‘break’ and aygfiaf‘split’.

6.11.3 Motion with arbitrary goal

In this type of serial verb construction, the two action verbs co-occur to express
motion that has goal. They express simultaneous or immediately consecutive action.
All the verbs share the same agent as can be seen in the following examples. In all

examples below, the goal given is arbitrarily connected to the motion.

(261) ved Ied mod{  sainet
2s go do what
PRO v v Q
‘What are you going to do?’

(262) than?l da?] led ey plat
bear clf go bite.  human
N CLE vV v N

“The bear go bite the man.’

(263) plui plad  lod vapl tadpit baJ
child cf  follow hit  fly clf
N CLF Vv v N CLF

‘The child follow hit the fly.’



6.11.4 Motion with direction
In this type of serial verb construction, the two verbs are combined to express

motion with direction. The first verb expresses the motion of the agent and the
second verb denotes the direction of the action.

(264) talpii  bal  jad layt
fly clf fly descend
N CLF v v
‘The fly came down.’

(265) pja®pi  te'gd  dopl Tju
move  come village Tju
v v N N.PROP
‘(They) move to the Tju village.’

(266) matkant katho'yl thapd sfa?1  paimot
spirit call ascend only ‘woman
N v v PRT N

‘The spirit calls only the women.’

6.11.5 Action with result

In this “action with result” serial verb construction, the two verbs are combined to
each other to show an action that has the result. The first verb expresses the action
of the agent and the second verb denotes the result in this construction. See the
examples below:

(267) kaljjan?l lwapd nid teinl bat
Kayan hunt . get porcupine clf
N.PROP v v N CLF

‘Kayan hunted (and) get a porcupine.’

In example (267) the first verb, lway/ ‘hunt’ shows the action of the agent, ‘Kayan’
and has the result that the Kayan get a porcupine.

This serial verb construction can be used in a question form as can be seen in the
following example.

(268) vei &l agd  mjonithed
2s quest eat  finish
PRO Q v 0

‘Have you finished eating?’
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6.11.6 Action with completion

The verb ba/ is combined with the action verb to express that an action is complete.
In this serial verb construction, the action verb is followed by the verb ba/ ‘touciy’
which indicates that the action is completed. Events modified by ba/ must be of
short duration. When ba/ is used with long duration, events denote the experiential
past.

(269) pat vapl bal  tajpit bal
father  hit touch fly clf

N Y v N CLF
‘The father hits the fly.’

(270) plud plad eni  bad  saino'!  mad
child clf bite  touch thumb clf
N CLF Y \Y N CLF

‘The child bites his thumb.’

(271) mplal vag! bal  mplaayd
3s hit touch himself
PRO v v REFLX
‘He hits himself.’

(272) is the example that ba/ is used with long duration event that denotes the
experimental past

(272) matho?1  ney pat  led bat sadt"on
yesterday  year = 1s go experience Tha-Hton
N N PRO V v N.PROP

‘Last year, I had an experience going to Tha Hton.’

6.11.7 Action with negative result

The verb ka'/ literally means ‘destroy’. In this kind of serial verb construction, the
verb ka' follows the action verbs to show that the action results in a negative
outcome. In each sentence, it has intention. The examples below show actions with a
negative purpose.

(273) pPai vagl ka4 talpi1 bad
father  hit action fly clf
N v % N CLF
“The father hits the fly.’
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(274) fwil da?l gt ka4 plud  plal  khantbo'y)
dog clf bite  action child clf leg
N CLF Vv v N CLF N
‘The dog bites the child’s leg.’

(275) tui ba)  safiad mad ka
bird cf fly  disappear action
N CLF v Y \Y

‘The bird fly disappear.’

6.12 Conclusion

In this chapter, single clause types were discussed. In the clause types, declarative,
content questions and imperative were included. Interrogative and polar questions
were discussed under content questions, aspect, ability, negation, comparative and
superlative, causative, reciprocal and reflexive were also presented. Brief discussions
of complex sentence types which contain coordinate, relative and adverbial clauses
were included in this chapter. Finally, several serial verb constructions were
presented.





